Note Taking Guide - Episode 103, Part 2 Name

My calculator uses an (equal, enter) button.
To solve V25 , T must punch the (number, v/ ) first and then the (humber, v/ ).

Calculators follow the Mathematical Order of Operations:

A calculator sees the problem "2 +4 x6=__"as ("(2+4)x6=36",
"2+ (4 x6)=26") because (multiplying, adding) is done first.

To make the calculator add first, I must:

10
To calculate, 2% 5 =1 punch"10 (x ,+)2:then(x,+) 5"

I1m 1 km

> km = 6000
m = 6000 cm > o0 < 1000 m

2 + 4% = (36, 18) because (adding, squaring) is performed first.

functions are always performed first on a calculator.
Examples:

To calculate “log 100 = ", I must type (100, log) first.

Practice this calculation: 200 + [2 x (4 + 6)]° = 800
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